Nombres Décimaux (H)

Trouvez chaque différence.

19-0,13 = 5,3-0,65=
36-0,77 = 79 -8 =
5,1-0,17= 5.4-43=
44 -0,76 = 4,5-0,69 =
7,1-0,65= 41-0,69 =
69 -3,9 = 0,8-0,51 =
6,7-0,89 = 9,7-7,3=
60 -7 = 90 - 3,4 =
0,76 - 0,11 = 64 - 41 =
22-0,87 = 85 -36=
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Nombres Decimaux (H) Solutions

Trouvez chaque différence.

19-0,13 = 18,87 5,3-0,65=4,65
36-0,77 =35,23 79 -8="171
5,1-0,17=4,93 54-43=1,1
44 - 0,76 = 43,24 4,5-0,69 =3,81
7,1-0,65=06,45 41 - 0,69 =40,31
69 - 3,9=165,1 0,8-0,51=0,29
6,7-0,89 =5,81 97-73=24
60-7=53 90 - 3,4 = 86,6
0,76 - 0,11 = 0,65 64 -41 =23

22 -0,87=21,13 85-36=49
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